MFM2P-EQUATIONS

UNIT 1 - DAY 3 - NOTE

RECALL
In an EQUATION

To SOLVE an Equation

We can follow the steps below to solve equations

SOLVING EQUATIONS: PART 2
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...1solate the variable

C | Clear fractions by multiplying all terms by a common denominator.

E | Expand using the distributive law to eliminate brackets
I

Isolate the variable on one side of the equation using opposite operations

D | Divide by the numerical coefficient attached to the variable
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EXAMPLES: Solve each of the following equations.

/T N\ N\ D
1. x—-4=12 2. Sx+3=4x-12 3. 2x=5=11
R= 12+ Sy~ g = 1> ~—3 Ax= || +S
Tx= 16 lx = IS 2 x= o
. ryg : -\'S \" #,i—h_ a,\
1 B | = \
\ .
4. 3x—11=5x+3 5. 8x+13-3x=-26+2x
X~ Sy = r =
*® 3 B B e = =T \2
=Jug ™
- = -39
-~ 2 ?’/X o
: > 2
| x=="NI\ —
\ ) 1_, Y= =) ,77\3
.
<N R e 3
6. 42x—3)+6=(7-6x)+5 7.5 5 o

=

D=1 % le = 1-bx+S
o N 23

Ef s hoxt = Tas ria—L

\Yx= 19
TS
\" = < ]
| X< ﬁ oR .29
i =+ ]

VN
8.0.2v=0.6v+1.7

O.dv —D.uv= |7

-O.Y4v =17
o -0 Y
e —
| vz -4as|

A = "if‘
- T4

A~ N\

A
9.4(3g — 5) = —2(46 + 39)

0
\3%"20 = —-q;l —(O‘j

S

e

\Qg 1—(@(3 s —Q]aA+2D0

L
IS
T & = =t |
9T



